

Phone. No. (02164) 272414, 8275706613 Web: http://gcekarad.ac.in Email: principal@gcekarad.ac.in, principal.gcoekarad@dtemaharashtra.gov.in



## Govt. of Maharashtra GOVT. COLLEGE OF ENGINEERING, KARAD

(An Autonomous Institute of Govt. of Maharashtra) Vidyanagar, Karad -415124 Dist.- Satara

GCEK/QUOT/Refurbishment of C-mess/2020-21/131

Date:- 17 JAN LULI

To,

Sub: - Refurbishment of C-Mess at GCE, Karad

Dear Sir,

With reference to the above, I request you to please quote your most comparative rates for the work as detailed overleaf/enclosed so as to reach the office on or before 16/01/2021. The prices of the work should be quoted F.O.R. at G.C.E., KARAD and exclusive of all taxes. The delivery period should be stated clearly and adhered to 'AF' or 'D' forms will be supplied where necessary. The R.R. through Bank or V.P. will not be accepted if order is placed. The specification of the material should be mentioned in full such as brand, make and company etc. I do not bind myself to accept/reject the offer, and its detailed leaflet must be attached. Your quotation should be valid at least for 30 days from the date of opening. The quotations should be sent in a sealed envelope. The envelope should please be superscripted with words 'OUOTATION DUE ON - Principal, Govt. College of Engg. Karad'

With this office reference no. & date of opening should also be mentioned on the sealed envelope. If the materials are not supplied according to the specification, it will be returned to you at your own cost. If ordered, you will have to submit three copies of the bill, which will be passed after receipt of material in good condition. Please note that if there is any overwriting in the quotation, the said item will not be taken in to consideration unless is initialed.

The quotations should be received on or before: - 16/01/2021 on or before 4:00 pm.

The quotation received will be opened on: - 16/01/2021, at 5:00 pm.

## 'QUOTATION - Principal, Govt. College of Engg. Karad'

## Name of Work: - Refurbishment of C-Mess at GCE, Karad SUMMARY SHEET

Sr. No.	Description	Ar	Amount		
1	Work Portion	Rs.	2,72,085.00		
	Total Civil Work	Rs.	2,72,085.00		
	Add GST 12%	Rs.	32,650.20		
	Total with GST	Rs.	3,04,735.20		
	SAY TOTAL	Rs.	3,04,735.00		

## ABSTRACT (As per SSR 2020-21)

	NAME OF WORK - Refurbishment of C-Mess at GCE, Karad					
Sr. No.	Item Ref.	Item Description	Qty	Unit	Rate in Rupees	Amount
1	46.09 Pg. No. 283	Dismantling brick masonry in lime or cement mortar and stacking the materils as directed with all leads, lifts etc.	3.39	Cum	305.00	1033.95
2	46.13 Pg. No. 283	Removing rich mix cement concrete including stacking the spoils as directed with all leads, lifts etc, complete.	0.19	Cum	847.00	160.93
3	46.15 Pg. No. 283	Removing and refixing doors and windows with frames and stacking the materials as directed with all leads, lifts etc. complete.	5.00	No	142.00	710.00
4	46.19 Pg. No. 284	Removing cement tiles, or marble or polished shahabad floor or dado without bed concrete including stacking the materials as directed with all leads, lifts etc. complete	242.61	Sqm	41.00	9947.01
5	46.29 Pg. No. 284	Dismantling the R.C.C. Work 1:2:4 and sorting out the materials such as steel etc. as directed and stacking them within the specified lead as directed etc. complete.	0.55	Cum	1321.00	726.55
6	27.12 Pg. No. 190	Providing fly ash brick masonry with conventional / I.S. type fly ash bricks in C.M. 1:6 in foundation and plinth including bailing out water manually striking joints, racking out joints watering and scaffolding etc. complete.	1.72	Cum	6082.00	10461.04
7	31.05 Pg. No. 197	Providing water proof bedding for flooring of Bath and WC 25 mm thick in C.M. 1:3 including using approved water proofing compound in specified proportion as per manufacturers specifications for per bag of cement including leveling, curing and covering 10 years guarantee on court fee stamp paper of Rs.500/- including ponding test etc. complete.	8.25	Sqm	386.00	3184.50
8	31.07 Pg. No. 198	Providing waterproof plaster in W.C. and bath 20 mm thick for dado in cement mortar 1:3 with neat finishing, floating using waterproofing compound at the rate of 1 Kilogram. per bag of cement of approved make and manufacturer and curing (and filling joints of Nahani trap and any outlet by properly) etc. complete.	5.76	Sqm	480.00	2764.80

Sr. No.	Item Ref.	Item Description	Qty	Unit	Rate in	Amount
9	32.05 Pg. No. 201	Providing internal cement plaster 12mm thick in single coat in cement mortar 1:3 without neeru finish to concrete or brick surfaces, in all position including scaffolding and curing etc. complete.	10.54	Sqm	274.00	2887.96
10	32.11Pg . No. 201	Providing sand faced plaster externally in cement mortar using approved screened sand, in all positions including base coat of 15 mm thick in cement mortar 1:4 using waterproofing compound at 1Kilogramper cement bag curing the same for not less than 2 days and keeping the surface of the base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing for fourteen days scaffolding etc.complete.	10.51	Sqm	599.00	6295.49
11	33.21 Pg. No. 207	Providing sills of required material 20mm to 25mm thick, on a bed of cement mortar 1:4 including cement float, filling joints with neat cement slurry, curing, polishing, moulding edges, cleaning complete.  a) Marble other than white makrana	3.78	Sqm	2034.00	7688.52
12	33.34 Pg. No. 208	Providing and laying in position flooring of telephone black / Amba White / Cat bary brown / Ruby red / Ocean Brown granite stone of approved shade and size 18 mm to 20 mm thick on bed 1:6 cement mortar including cement floats striking joints, pointing in C.M. 1:3 curing and cleaning etc. complete.	5.18	Sqm	3795.00	19658.10
13	33.38 Pg. No. 208	Providing and preparing kitchen otta up to 75 cm width, made up from 30 mm thick and 75 cm high vertical support for kadppa at 1 m. c/c of 25 mm thick both side polished kadappa middle shelf and bottom of 20 mm thick one side polished kadappa with facia patti of 20 x 50 mm kadappa including all material labour cutting fixing with cement mortar and araldite curing polished and cleaning etc. complete.	3.48	Sqm	2602.00	9054.96
14	33.40 Pg. No. 209	Providing and laying vitrified mirror / glossy finish tiles decorative type having size 590 mm to 605 mm x 590 mm to 605 mm of 8 to 10 mm thickness and confirming to IS. 15622-2006 (group Bla) of approved make, shade and pattern for flooring in required position laid on a bed of 1:4 cement mortar including neat cement float, filling joints, curing and clearing etc. complete.	143.44	Sqm	1098.00	157497.12
15	33.41 Pg. No. 209	Providing and laying vitrified mirror / glossy finish tiles having size 590 mm to 605 mm x 590 mm to 605 mm of 8 to 10 mm thickness and confirming to IS. 15622-2006 (group Bla) of approved make, shade and pattern for dado and skirting in required position fixed in 1:4 cement mortar including neat cement float, filling joints, curing and clearing etc. complete.	4.54	Sqm	1167.00	5298.18

Sr.	Item	Item Description	Qty	Unit	Rate in	Amount
No.	Ref.		<b>~</b> ·J		Rupees	
16	33.48 Pg. No. 210	Providing and fixing green marble of 18 to 20 mm thick for door frame/ dado/ window boxing etc. On C.M. 1:6 including filling joints with polymer base filler nosing/ moulding the sharp edges wherever necessary, curing, etc. complete.	3.30	Sqm	2242.00	7398.60
17	33.68 Pg. No. 212	Providing and laying telephone black/ Amba White/ Cadburybrown/ Ruby red/ Ocean Brown granite stone of 18 to 20 mm thick for door frame/ dado/ window boxing etc. On C.M. 1:6 including filling joints with polymer base filler nosing/moulding the sharp edges wherever necessary, curing, etc. complete.	4.19	Sqm	4133.00	17317.27
18		Dismantling, removing, refixing, repair whichever action is necessary. Also repairs of drain-outs with proper slope etc. complete.		LS		10000.00
		TOTAL AMOUNT SAY				272084.98 272085.00

Pringipal
Govt. College of Engineering, Karad.